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Bellwork  Wednesday, February 24, 2016

a

10. g(x) = ax? + 24

For the function g defined above, a isa constant
and g(4) = 8. What is the value of g(-4)?

A) 8

B) 0

C) -1

D) -8

15. If (ax+2)(bx+7) = 15x2 + cx + 14 for all values of

x,and a+ b = 8, what are the two possible

values for ¢ ?

A) 3and5

B) 6and35
C) 10and21
D) 31and4l

17.

A summer camp counselor wants to find a length, x,

in feet, across a lake as represented in the sketch
above. The lengths represented by AB, EB, BD, and
CD on the sketch were determined to be 1800 feet,
1400 feet, 700 feet, and 800 feet, respectively.
Segments AC and DE intersectat B,and ZAEB
and ZCDB have the same measure. What is the

value of x

l‘x




@ fj(%):

Bellwork  Amns v\/e,;\

< S
b ~ Tt using mepr#f of ?"“’Porﬁm&
b
— a "2

mMud+pl 1 botin S (deg b% L/

L"(:;““"‘L(

C&.}(L-.ll‘f‘
P ’ ;
Snte X7 1S alwey s Dosthive (W)= (-u\ =
{ A” Q( "l>7" _{,LL{ = (,_rsh{:;&_g,;. 2'»{ re\cjardless ?—C Jri,\(
o | Nedue o4 o
ﬁ(LO = 3(——“4) =¥
(eox + 2’)/&9,‘% ) = 1SE ex+ 14
_ A-b=15 — ae lo are  edler 245 o S
>
Q SN CE o ¥ = & CoL b are 2—,&;’5
<hue leads o teoo

(2x+2)(5y +7)

(5 x+2) (3 x+7)

—

Qo

=

Possiby Fa#.uéj

[S%> + 21y +lox +14 = 15%x= +£3Ix+I¢

G2 + 35¥Y+ by +1Y=

(5 x=4 1) x41y
c. = >loe—H |
- : | (A
@ { 6|U‘e°/\ \/M‘hra\ﬂ Ls ol L A %CD ~/ & _}AF 1m1(ar;
/)r Thave -Carg C@\F(ﬁfgpowéqugj g,cfeS Gre PWU‘POW N‘Lo,i o 'ff"(]o
S \860 o BD D 100 8w
\\ )7;. pE A= [ 400 1%
X ((\D ©00
ST
E \\c,




